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Note: This question paper contains.two parts A and B'

PartAiscompulsorywhich.,,,i.,25marks.AnswerallquestionsinPartA.
partB consists of 5 tinits. An.**i'uny one full question fiom each unit' Each question

ca$igs l0 markl and may have a, b' Q as sub queEtions' , '. 1
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(25 Marks)

1.a) What are the different types of operating systems? L21

b) How parameters can Ue passed to systeri calls? t3]

c) Define semaPhores ' 
-l -' 

t21
t3ldi What is the role r-rf {5g{cher?. . i"tzt;; 

ffijii,lilTait.$Tl;1..' addiess and phvsicar address ' iii
g) Defrne th" f;;:"';;;;;';tt[;';r* fi;;lio - ';tk 

time ind latencv time' [2]

h) Distinguish Uet*""'i'f'ared and exclusive lock' 
-h+ -oart rnr itc e.,.ecr 

t3l

i) Define resource. List some ,.rouo"t tt at a process might need for its execution' t21

j) Describe role-based access control' 13]

i*'i i""-i
(50"Msr.ks)
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[5+5]

semaphores?

b) #i#'rr*ess. How **y j1ry:g states a process has? Exptain when a proclss

."""'.,," . ,. PAR'-B.' .-' '

-;,.','.:i.,,,,...'..::..,:,..,,:.'.
2.a)t -'Explain briefly system calls with examples'
- 
i'i E*pf ui, differlni operations performed by the operating system'

OR

3.a) State and explain various types of computer systems'

b)Explainifyourunthe,u*"p,og,umtwice,whatsectionwouldbesharedinthememory'

.-,, , ^ 
+.ul.r*....p"icribe dining,phiiosopher problem? Device an ai[brithm to' solve the problem'uiing

changes the state with a state diagram?
OR

5.a) Explain tfe rl1j;rs yll,':pl:31:Tj*-*'.*''l!on Sfing trre co|gfPl glsemaehof;;
j .:i1..1;;. -..-, ,,,[l*s:uli,.;,gllruinur*t,tnteiProcesscoqrl''runication',
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6.a) IixPlain the fi"'rllowing:

i) Paging
ii) Segmentation.

b) . ,Explain why ilo .lprioriple of -lcrcality:, is crusia! to the use of 
fr.tual 

memory?'what is
"' .'";;;;;;d#.i'.ilvd;;ilr*,toui. lil o* , ".!.'*ti''

?.a) Explain briefl.v the performance of rlemanil paging rvith necessary examples'

b) consider ,tr*rl'uo'tr,ree page frames wtricnlre initially empty' If the page reference

string is 1,2,3,A,2,1,5.1,,i.ak. The numi:er of page faults using the optimal page

. rePlacement PolicY is? [5+5]

g.a)i, ,,.-Explain the .unu*[, of file shating.,Wfr., are the criter'la to be followed in systerts lvhigh

b) Compare t#;;;;"rt,:: gjwrite operations achiet'erl by a RAID level 5 organization

with that achiived b.v a RAID ievel 0 organizations'i [5+5]

OR

9.a) Discuss the follcr'vitig terlns

i) File sYstern mouniing

,f .,;};T:TH:**-, imum file stze'supponed I'.1 Ii::ftTl with t6 directb-locks',single'

double, h.ipt;'indir;*ii,,nf rne Uiocf< size is 512 by'tes' Disk block numbers can be stored

in 4 bytes. 
! ,iu,vvrra/ 

[5-t5]

10.a) Explain bankers algorithnr for deadlock avoidance w'ith an example'

b) Explain ahr:ut dorn-ains of proteotion' [5t5]

1t.a), .; sysrem hasr3 deviaes nl, |l and O: JO 3 pi'ocesses P1f1.a1rd.l?''Pl is holding D1

- an<l waiting tbr D3. P2 is holdirf D; *iwaiiing for Di' P3 is holding D3 and waiting

for D2. l)raw res.urcs allocati;;*ph and wai-t-for graph' Is the system in deadlock

state or not? ExPlain'

b) si*t" un,r .*piui,iit . nlethods involved in reco'ery fron'r deacllocks.
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